
Collecting Like Terms 
 

Q1.  Simplify these expressions by collecting like terms. 
a)  ܽ + ܽ + ܽ + ܽ b)  ݎ + ݎ + ݎ + ݃ + ݃ c)  4݁ + ݁ + 2ܽ െ ܽ 
d)  4݂ + ݓ5 + 3݂ െ e)  ͷ݄ ݓ + ݑ8 + 5 െ ݔf)  6 ݑ + 4 + ݔ5 + 8 
g)  2ݓ + 6ܾ + ݓ3 െ 4ܾ + 2 h)  4݀ + 3݁ െ 3݀ െ 3݁ i) 4 + ݒ3 െ 2 + ݒ5 + ܽ 
j)   3ݎ + 10 െ ݎ2 െ ݎ െ 4 k)   3݀ + 3݂ െ ݂ െ 3݀ െ 2݂ l)  12 + ݐ + 6݃ + 7 + 3݃ 

 
Q2. Expand these pairs of brackets: 

a)  ܽ݀ + 5ܽ݀ b)  4݂݃ + ݂݃ + ݂݃ c)  ܾܽܿ + 5ܾܽܿ െ 2ܾܽܿ 
d)  2ݔଶ + ଶݔଶ e)  5ݔ4 + ଶݎ4 െ ଶ f)  6݀ଶݔ + ݀ െ ݀ଶ + 4݀ 
g)  6ݕଶ + 10 + 3݃ଶ + 9݃ଶ + 2 h)  2݉ଶ + ଶݔ െ 2݉ଶ + ଶݕ (ଶ iݔ4 + ଶݕ3 + ݕ + ଶݕ +  ݕ4
j)   ܾܽଶ + ܾܽଶ + 2ܾ + 2ܽ k)   4ݎ + ଶݎ + 3 + ݎ7 + ݐଶ l)  4ݎ2  + ଶݐ3 + 3 + ݐ7 +  2݆ଶ 

 
Q3.  In each of these pyramids the cell above is the cell of the two directly beneath it.  Complete the 
pyramids by collecting the like terms. 

 
 
Q4.  Write the perimeter of each shape using a simplifying algebraic expression. 
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